SDXNE 1VTYIA T5V9%—(0YFAM0D-Y)

B E[Reus]sus[Z2s Kion

SDXNE-W SDXNE-W-SUS
(RF—)LA&Y) (SUsS®)
14T AME J7 AR | /=X
g SUM22L SuM22L
SDXNEW | = mefseoms . HRC56~62
YT
ot =~ | SUS302WPA | SUS420
SDXNE-W-SUS SUS303 %L T Ty HRO53~55
[SDXNE-AW-SUS] SUS303
L S(zxka—%)
S, L1
»rlr
() AT
7 "
|30 ([ SRR o
\A J N
Al 7\

M

Y14Z (2?83) S M Lt/ A|D|L|W|T ;Iijii;(g)j( )El/m"/g%'}Eﬁ
6| 3| 5|/M6X075|17 |08 14|33 | 10| 3| 45~12 SDX 6Z
8| 4| 6|M8X1 21 |1 |18 405/ 13| 4| 6 ~15 SDX 8Z

10| 5 | 8 | M10X1 24 11321465/ 17| 5| 5 ~16 SDX10Z
R 12| 6 | 9 |M12x15 |28 | 18|25 |57/ 19| 6| 6 ~18 SDX12Z
16| 8 |12 |[M16X15 | 36 | 2.3 3 72 |24 8] 15 ~45 SDX16Z
20| 10 | 15 | M20x1.5 | 40 | 2.8 79 13010 ] 15 ~43 SDX20Z

£ - #18H TEL.0575-28-4811 TEL.0575-32-2239 97t D-KL-I3D



AF—JVE SUSH /—XWAFY | SUSH /—XHRAEL | H=

m & m & m & (g)
SDXNE 6W SDXNE 6W-SUS SDXNE 6AW-SUS 5
SDXNE 8W SDXNE 8W-SUS SDXNE 8AW-SUS 11
SDXNE10W SDXNE10W-SUS SDXNE10AW-SUS 22
SDXNE12W SDXNE12W-SUS SDXNE12AW-SUS 34
SDXNE16W SDXNE16W-SUS SDXNE16AW-SUS 78
SDXNE20W SDXNE20W-SUS SDXNE20AW-SUS 137

JTEBIKE/— XD A BB R DA #HEEE 80°C
PRBIITE BT/ — KRBT i
CEOTTDOREICRS NURBRIED W/ —ZEER
1T VIRT 5T v—TF, HALZ B AR A (N)
6 212
SDXNE-W 8 377
10 589
B ESEN— SDXNEW-SUS| (2 a0t
SDXEALFIcOEEL Tl SDXZ §AL>F42%  [SDNEAW-SUS| —o 1507
<FEE, (P. 1304 BHB) 20 2355

fERGI - ERTE

[M1>FVvIXT I Tov—BRRIETELZE,

(P. 1210 £88)

£ - #18A TEL.0575-28-4811 TEL.0575-32-2239

9 I-KL-DaD



